
Pos-­‐rec	
  from	
  Xiaoxiang’s	
  
Simula5on 



Input	
  file 
•  /home/xiaox/Geant4_Sim/Run5/data/S2/10k-­‐Photons/

NNTrain_10k_0.98_0.77_2_40_evt10k_job1.root	
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Entries  10000
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Entries  10000
Mean   3.24e+04
RMS    1.775e+04
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Entries  10000
Mean    30.11
RMS     15.57

r_pri-gcoutr
0 20 40 60 80 1000

50

100

150

200

250

300

350

htemp__4
Entries  10000
Mean    30.11
RMS     15.57

r_pri-gcoutr < htemp__5
Entries  10000
Mean   -0.5212
RMS     9.346

tr*gcoutr+2.78209*TMath::Sin(0.648845+0.130034*gcoutr+0.479465*TMath::Sin(0.1264*gcoutr)))
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Entries  10000
Mean   -0.5212
RMS     9.346

r_pri-(3.31609+1.05441*gcoutr+0.000589817*gcoutr*gcoutr+2.78209*TMath::Sin(0.648845+0.130034*gcoutr+0.479465*TMath::Sin(0.1264*gcoutr)))

sigma = 8.54832mm
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0 50 100 150 200 250 300

r_
pr

i

0

50

100

150

200

250

300

r_pri:sqrt(temoutx*temoutx+temouty*temouty)
htemp

Entries  10000
Mean   4.513e+04
RMS    2.585e+04

(temoutx*temoutx+temouty*temouty)
0 10000 20000 30000 40000 50000 60000 70000 80000 900000

20

40

60

80

100

120

140

160

180

htemp
Entries  10000
Mean   4.513e+04
RMS    2.585e+04

(temoutx*temoutx+temouty*temouty)

h
Entries  10000
Mean   0.2163
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sigma=4.663mm
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  Real	
  Time	
  =	
  1210.93	
  seconds	
  Cpu	
  Time	
  =	
  1208.06	
  seconds	
  fro	
  10k	
  evts 


